
A ( 0.26 : 1 )

SIZE
A4

DRAWING
 NUMBER 316-84945

 

REV.
ISS. 2 DO NOT SCALE THIRD ANGLE PROJECTION IF IN DOUBT ASK

UNLESS OTHERWISE                         TOLERANCES: - 0 DECIMAL PLACES ̀ 0.5    

      STATED: -                                                         1 DECIMAL PLACES  ̀ 0.2 

                                                                              2 DECIMAL PLACES ̀ 0.1

DIMENSIONS ARE IN M.M                                                       ANGULAR ̀ 1~
DRAWING
 NUMBER

REV.
ISS.316-84945 2

SCALE

SHEET
1  OF 1 

MATERIAL/FINISH

THIS DRAWING IS THE PROPERTY OF
NEWALL MEASUREMENT SYSTEMS LTD.

THE INFORMATION THERON MAY NOT BE COPIED OR USED
WITHOUT WRITTEN PERMISSION

N
Leicester England

TITLE
LATHE CARRIAGE ADAPTOR ASSY

DRAWN
DATE

chris.w
07/01/2008REV.ISS. DATE C.N.No ALTERATION

A

294-95070 - 1off

294-95080 - 1off

294-95090 - 2off

        ADDITIONAL PARTS
 
1off  -  M10 x 40 CAP HEAD SCREW
2off  -  M10 PLAIN STEEL WASHER
2off  -  M10 NYLON WASHER - (104-11070 19.8/21.0mm O/D x 10.4mm
           I/D x 2mm THK WHITE)
2off  -  GREY CABLE TIES (CROSS SECTION SIZE 4.5 x 1.5 MAX)
1off  -  M10 NYLOC NUT
1off  -  STUD M10 x 105.00mm
1off  -  M10 FLAT STEEL WASHER FINISH CHEMICAL BLACK 294-37750
 
ALL PARTS TO BE PACKED TOGETHER IN A POLYTHENE BAG
 
 

1=1

1 14/05/08 ECN8974 COMPONENTS ADDED TO DRWG, ASSY DRWG ADDED -TH

CARRIAGE ADAPTOR ASSY CARRIAGE ADAPTOR ASSY
WITH EXTENSION ARM

294-94785

294-95080

294-95070

294-94920

M10 x 105mm  LONG STUD

SPACER - 294-95090
M10 NYLON WASHER

M10 FLAT WASHER
M10 NYLOC NUT

SPACER
M10 FLAT WASHER - 294-37750
M10 NYLON WASHER
M10 FLAT WASHER

2 03/06/08 ECN8980 NYLON WASHER DESCRIPTION CHANGED. ASSY DRWG AMMENDED-TH

M10 x 40 CAP HEAD SCREW

ASSEMBLY ARRANGEMENTS - LATHE CARRIAGE ARM # 600-84126

 
 

 
 

 


